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Solution to Problem 104B

The angle of repose of the plate can be found by equating the moment due to the weight of the plate to the moment due to

Hinge

I1m=L/2

Water Surface

\Perfect Seal

(no friction)

Water
00011000 kg/m3

the pressure in the fluid. From the geometry, the submerged length of the plate is:
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Moment due to the hydrostatic pressure is:
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The moment due to the weight of the gate is:
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The angle of repose can be found by solving this equation be trial and error. The answer is 6 = 40.19°.

Equating these moments leads to:




